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Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 7622113201 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Probability sampling is otherwise called :

T 9iaeel &l AT ol 2

Options:
Multiple choice

% qgfdhcdly =g

Uni-variate _.i"uml}'s.iz

THI-af¥ue fageram
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Random Sampli.ng
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

A Research Report is a formal statementof .............___.

TH I RO ., T Teh UG (G0N0 B |
Options:

Rezearch Process

| AT Uiha

Research Problem

5 # STAE A

Data collection

3. % :H.I-"]"El '\_:l.__.]. EI:I



Data Editing

4 W \_.E L' '\_;ié-é.:"
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

Which of the following is not covered under Intellectual Property Rights ?

fa=fafiaa § 9 & difge duer AfTent & Iiaid Jafamar g ?
Options:
Copvrights

;. & PIURIEC

Patents

> % dcc

Trademarks

r

o W 5:1‘5 [

Thesaurus

. forefey
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

A bar chart or graph which shows the frequency of occurrence of each value of
the variable which is being analysed is termed as :

T TIT‘r AT UTH Wl IN o Ul HIF hi U & Dl Erll"ﬂl"‘l G CEEI] Er SEED
a9yl fohd _"IT?TE'TE’ Pl HEl I ?T.
Options:

Bar chart

| % W9 AT & w9 H

Histogram
5 Hifeirias & wU H

Candle stick
3 % Do Ne® & w0 4



Tabulation
4% R & w9 H
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The depth of research can be judged by :
Tl W1 TExTs H1 SEToll SHY ST ofl Gehal @

Options:
Title of the research work

% UE B B NS

Objective of research

o o T @ T

Total expenditure of research
- x I BT B T

Duration of research

4 % T @I 3@ty
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

The mean of a set scores is 50 and standard dewviation is 10. If the score of each

student is doubled the new median will be -

=T AHI B AeF 50 8 AT AFF FEed 10 £ 1 AT USE B B APl B Gl
& {591 oirg, 93 AT

Options:
Remain unchanged

| RS v

Increase by double
2. '\‘?’? E: g—l_l—ér E"\-ljﬁ

Decrease by half
5 % T HH BFA



Become equal to the mean

4 % T F AER EE
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following is net a type ot research question ?
=1 § 9§ B U U2 &1 UBN T8l 7

Options:
Predicting an outcome

% ORUTH @1 Afasgari

Evaluating a phenomenon

o % Tl B Hegldh

Developing good practice

5 % IS URAT BT IG1I

A hvpothesis
4 TP TRHTA
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

All of the following are types of non-probability sampling techniques except :
e # 9 9 IN-uifiredr ufaeel daqle @ JaN & g9

Options:
Purp os1ve samp ling

| w AT AfaSE ®

Snowball sampling

o % VATl gfee @

Convenience Eampli:ng

5 % giaar ufoee &



Random Eamp]_mg

4. diglzgdy Mldg=l @
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
To test null hypothesis, a researcher does nof use :
T YRNEHT & WAV HRA 8g SJEaHdHal 7 § 9 fhesr 9ar 98 s 8 ?
Options:
Chi-square test

s DTS-I TRIETTT

1.

t-test
o % CIOVIE

ANOVA
3 % T

Factorial analysis

4 AT fagero]
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

P-alue stands for -

Tlo Ho& &1 AU 2

Options:
Probability value

1.Jmﬁﬂww

Preference value

E_Qaﬂ?ﬁﬂﬂw

Pre-determined value

_ Ja-T-i¥aa 7Jed



Prescribed value

L% BENECE &
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In the process of conducting research "Formulation of Hypothesis” is followed
by :
FTHET B DI UlhAT H “URSBTAT & AP & g a1 HIar B :

Options:
Statement of Objectives

| w 9aazdl T faaee
Analysis of Data
o w dids BT fwer

Selection of Research Tools

o o ATHET AEET BT T8

Collection of Data

, & SNPS T HIE
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Longitudinal studies of cohort groups .........._. ]
S TRl BT AFas AT €

Options:
Study the same people over time

| % BY FHI W Uh B AN BT T

Use panel members as particip ants

o x AFER & W0 § U Haei &1 STar

Study attitudes at a single point in time

3 % TP I W GCHIT B Fena




Use different participants for each sequenced measurement

L  TI® STHHAT AT 7 A= AFERT B ST
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

A deductive theory is one that :

! - [ i

e g ©

Options:
Allows theory to emerge out of the data
| % Sl RIgid & Siids A o~ 8 o @

Involves testing an explicitly defined hypothesis

o o TSTH RO AT GRAITT IRGCIT BT TR Wi 8

Allows for findings to feed back into the stock of knowledge
5 % [OTIPT SETY g §M & H9g H ufayfic &g ey g

Uses qualitative methods whenever possible
4 % Ol ofd 01 9T B [UIAS TGd BT HANT Bl ©
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Meta data is the data that :
ATl ST 98 SIeT & ol

Options:
Distribute other data

% o4 SICT &l dicdl 8

1

Collect other data
5 % I STCT BT THT BT

Describes the other data
5 « SICT &I Fadr &

Destroy the data
4 % SICI @ & Sl 8
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

FEandomization iz done to :
i Sh
ATGEFHIHIVT Bl ATl 2

Options:
Increase bias

| % IFART B1 9@ & ferg

Reduce bias

o  SAAT @ HH B T ferg

For making hypothesis

3 % UREAT TR & oy

To increase drug efficacy

4 % S e B S & fov
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Data is represented in form of notes, recordings and video tapes in :

ATpel I Alc, ¥PHIeT Ud difedicd & w9 § fAwud f&ear o g

Options:
Qualitative Research

| o TS IFTHE H

Quantitative Research

o s WRATIIES JTHE H

Experimental Research

5 % TARTICHG e H

Descriptive Resea rch

4 % dUHTCH® SFTHET H
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question



Grounded theory is often used in formulation of :
qTSSS LRI & G4 gfaured H agen fhan wrdn 2
Options:

Policies and Programme evaluation research

| o N Ud BRISH Jedih STJHaH &

Opportunity for exploring the facts

o % T BT UAT T TG JTH S

Categorizing data

o R

Understanding the culture

4_%% P GHSH B
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Read the statement A and B and choose the correct option :

BT $ Td G BT Iy 7241 el fabeq gy

Statement A : Variables can be manipulated, controlled or observed by the
experimenter.

FYT F : TN DI TAFTHGT 59T B H amEn, FEEa o sadifead fRar 9 9dar 2 |

Statement B : Variables are not related to theoretical concepts.
HYT | : W AGIAd Faurons | Hafed Tl €|
Options:

Both the statements are true

, % T I TG €

Statement A is true but B is false
o  PIT B T ¢ fbeg P & 9T 2

Both the statements are false

o % G DU IEA T

Statement A is false but B is true

4 % DIT B GG ¢ fbg HUH G A 2
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not a category of legal research ?
Tfaad # HE-A1 AfdE o 3 G0 # A% A 57

Options:
a parasitic discipline of law
| o TEEE T @ ET A

a practical discipline of law
o % AN 9 T =T H

an aspect of the humanities
¢ HFEEH] & U U b =9 H

=

an aspect of social sciences
4% HHIE 95 & 95 & =9 H
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Rejection of null hypothesis when it is true is called :
9 B8 ®i [Refa ¥ 990 dN&Gog=T &l 3 -:_F»r’;d T FHEAal & 7

Options:
Type Il error

, % c8u IMFfe

Type Ierror
o o C -qE - Ia—ﬁr

Sampling error

.y TR 3

Standard error

4 % AF® e
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question



In a research study one of the variables selected was (students’) parents’
occupation such as business, farming, service etc. What level of measurement is
this ?

"HTHI HEIE H FAMG U 9 J1a1-0dT $1 dErd oY IR, Wdl, 9al gy |

Options:
Nominal

T

T

"

Ordinal
2. W a ] H Qﬂ- a ':-] ]

Interval

H-aO¥l ¢
o R

Ratio
4 % I3
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

What is standard error ?
Options:

Standard deviation of the sampling distribution of a statistic
. A=y & giaeyl g & J1d a9

Modal error value of the standard range of a statistic
5 % WIRGHT & JH® 4ol & HJisd Jic A

Error in the calculation of standard deviation of a statistic
o x QO™ @ A e @ T H Ffe

Standardized statistic to minimize error

4 % 3C PP I & [0 ADIFT HiDEI



Question Number : 23 Question Id : 7622113223 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is helptul in determining sample size ?
UfASel TR & MR & § 94 ¥ 9 &4 9896 & 7

Options:
Ruszell 2000 index
| w <H 2000 FABID
Cochran's formula
HIhv &I -9
o o

Tussad's formula

o x Qg @

Spearman's formula
4 % TIHT w1
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which of the following is not true about the case study method ?
‘FTH AFEE A AR H Ffanad # " #9998 57
Options:

It is an expensive method of research

There are many chances of making errors

fe 8M & 9gd d49/EA1 =2l B

=]
-

[t is mainly qualitative in nature
% 5 FEATAT OHE BT B

It is quantitative in nature

4Ju:mm—qtrnrumml 5
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No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question



Read statement A and B and Choose the correct option :

BT & Ud @ BT UgU TUT Wel fadded &1 FA1d PIfeIT :

Statement A : The Latin square design has an advantage over randomized block
design because it is possible to control the effects of two secondary variables.

YT & : olfcd EEER fSuE agfes o fsusd 9 s ameEds & @il
Tg g1 T =R F UHE BT EEd $ H W 2

Statement B : A 2 x 2 x 2 factorial design has six independent variables.
YT G : U 2x 2 x 2 HHMG feus- 4 B8 Wad =@ 8 2 |

Options:
Both A and B are true

lgmqﬁaaﬁrw%

A is true and B is false
5 @ P AT T A W FEA T

Both A and B are false
5 % & Ud & Al o ©

A is false but B is true
4 % P I € AP @ WA @
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple CThoice Cuestion
A researcher is invstigating teacher's attitude towards year-round schooling. She

is particularly interested in describing the attitude of teachers from small,
medium, and large schools. Which sampling procedure should be used by her to
ensure her sample is representative of these types of schools ?
U AJHUMEHT g4 WY el @& Ul HeATUS & AAgRT Bl AU HR I8 2| 98
B, T dAT g5 Wholl H el © AAgRy & < § 99w &y ¥ foo=al o
el gfcifeeg & HJd ?
Options:

Cluster

1 % qE

Quota
2 % ®IC



Systematic

3 % \‘\_.- Ol ¢

Stratified
4 v WG
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which of the following tvpe of research focuses on amending the prevailing
situations ?

=1 9 9 {59 IR &1 FgHu A RIfadr o1 Gune iR Saiad e g 7
Options:

Action research
| o SPATAE STFxEr

Experimental research
o % WATTICHE e

Fundamental research

= ® ﬂ: 1:" EHTTETH

Conclusive research

, x (ORI ST
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

If there are eight categories or classes in a goodness of fit test, what will be the
degree of freedom ?

i [e9 A e <% d e &l O & €, a1 W=y ®ifc @1 B8R 2

Options:

1.*8

7

e



Cannot tell on the basis of the information given
4 % &8 T FHGR & AER O 94197 e S qehal g
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Qualitative research helps in collecting data under more ..........._. situations.

qUITCHS STJHE b fRerferal 3 Siferel Uiz R H Weradl &Yl ¢ |

Options:
Normal

1. % Lo

Natural

5 -\‘;,’? ﬂ E]:S E‘_ 'E:I:S

Experimental
5 % HANTTA®

Artificial
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No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Read statement A and B and choose the correct option :

YT B Ud @ F IigU TAUT Wl faded vy

Statement A : A case study can be used only in clinical psychology.
YT B : 71 AT (BH ITSI) BT WA hael faer-iad AT H fHar &1 |l
=4

Statement B : The approach of case study is based on the artificial atmosphere.
YT G : g1 AT (W ¥CSl) B glehv HiEH JRe IR A= 2 |
Options:
Both A and B are true
, % U @ EH U

Statement A is true and but B is false

o % DY P U B b O HEA &




Both A and B are false

Statement A is false but B is true
4 % BT P A ¢ olfh] & §F ©
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which tvpe of research focus on what will be ?

fehe UehTY 1 STTHI &1 BT R BIdd Hecl 8 7

Options:
Experimental

1, o TS

Case study

, % 99 A (P ITH)

Survey

5 % Hae

Ex-post facto
4 % q9 T
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which of the following should be up to date, complete and affordable for proper

sampling ?

=1 3 9§ ®F Sfag dfaey 2q sterdd, QUi 91 §9a 2 =@1iey ?
Options:
Sampling technique

| x TRE" TE

Sample frame

2_‘&? HE'H\ ;*T‘El-



Reszpondents

5 x AR @ A

Tools for data collection

4%31‘#@@3?@@%
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

What is a research design ?
ATHI e F 7

Options:
A way of conducting research that is not grounded in theory

1%a§ﬂmﬂﬁﬂﬂﬁ‘ﬂ1ﬁﬁ@ﬁﬁmﬁﬁﬂﬁg

The choice between using qualitative or quantitative methods

o % TS T4 ORHETUTCHS Tgiadl &1 TR $HY- & 9" faded

The style in which you present your research findings, e. g. a graph

5 % Joit fSTEH 31T SIT e e sieid T BT Igd BYd ©

A framework for every stage of the collection and analysis of data

4 o ATBST & AT T HIE & FAD YA TG Il
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

It a study is "reliable”, this means that :
Ofe gy fdgaa-my é’ s Hod g b

Options:
It was conducted by a reputed researcher who can be trusted

IE Hidfted SHeGal g &1 Widl 2 o WX faward fear o ¥aar €

1 &

The measures devised for concepts are stable on ditferent occasions

, o SRS o Bferd Surr fafi= sraest w Rer 2@ @



The findings can be generalized to other social settings
o [TSRY DI 3 WAME TR & fu aeriigd fBar o wear 2

=3
The methods are stated clearlv enough tor the research to be replicated
A% I B ufadfa {6 o 2q usfaal o1 W w | udid qardr 147 2
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Ethical norms in research does nof involve guidelines for which of the following ?
ST J Aifquwes JE J e H fege fou feen-fae wide 98 @ ?

Options:

Thesis Format

L  JE HaE U

Copvright
o % PHNIEC

Patenting policy

5 % NoC

Data sharing policy

4 % \_,E [_,l \]\*-l-q“] ;” k
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

_________________ is not a source of Hypothesis.

_____________________ NI &1 Udh Hid 7&f 2 |
Options:
Intuition
. % Heul H[E
Knowledge

2IWEI'I_"T



Energy
3 '\‘:5? '-.?_. ATl

Theorvy

|

4 % 194
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following variables cannot be expressed in quantitative terms ?
Frefeiad 4 | (59 =R @1 AEHS sl 4 ad el fhdl ol dadl 8 7

Options:
Socio-economic status

| % HITSTS I Rerfd

Marital status

, x AT Refa

Numerical aptitude

2 arE el iR i

Professional aptitude

L % TIER AR

Question Number : 38 Question Id : 7622113238 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is not a citation style ?
faefefag § 9 o9 s 3= faf 98f 2 ?

Options:
APA.

1@?0&[0:{0

MLA.
- UHo Uelo To



Chicago

b

5 % 1

Ohio
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Which of the following is not a defining characteristics of non-doctrinal research ?
frfefaa & & = fe-Haifas ol @ afveias @ 981 & 7
Options:

It is organized around legal principles and appellate court decisions.

= S

o5 fattes =t 3T AJAUeE SJEed & Al @ =9l aiw

It puts lesser emphasis upon doctrines.
, x T8 MmOl 9T HH 9o Gl B |

It seeks to answer broader and numerous questions.
, » 97 378 UFG S UL & ITY WA BB HIAT F |

It may involve the use of research tcn:r]s. and perspectives not pecu]mr to law.
SHH UHT 90e A AN GChvT Tgad 81 ol 5 511 Hdal did 96

4 % HITAT B B E |
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following is not true about positivism ?

frefafaa § 9 & vemefare (@fsfefes) & ddg § a2 78 2 ?

Options:

It is associated with Auguste Comte

| % TE I B B AT JST &

It denies metaphysical speculation

> % U ToauIHIGD ChHAdToll B gae dYdl @




It emphasises on objectivity

. % I8 TR W WR < g

It is a method used in qualitative research

, U8 U fafer & et war quircds e H e 8
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

A particle of mass m slides under gravity without friction along the parabolic path y = ax’
as shown in the figure. Here a is constant. The Lagrangian for this particle is given by :

\ .

=¥

Options:
1 o B 3
L=—mx"—mgax
1 % 2

[ o]

1 .
L= ?m{l +4a*x*)x %+ mMeax
o ® “



I D 2
L=—mx"+mgax
o W 2

1 o I TR
L=—m(l+4a"x")x — mgarl
4 2
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

If p, ¢ are canonical variables, then which of the following pairs is not canonical ?

Options:
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

A particle of mass m is moving in the potential V(x, v, ) = ax” + by” + az”, where q, b are
constants. Which component of the angular momenta L= 7x p is (are) conserved ?

Options:

Ay 2

o> Y L.‘i'-. L.:

= W L.’.’- L_‘-'- LE

sl
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Cuestion Label : Multiple Choice Question
The effective Lagrangian for a two body central force problem is given by :

L=%u[f2 202 aso
L r

The long time average kinetic energy of the system is given in terms of total energy, E as :

Options:
1. T=-E

o W }F:_%

4 % T=2E

=

= W
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The Lagrangian of a dynamical system in 3-d is given as L(r.v) =—;mh-“—i—£fj2? where a
is a constant vector. The Hamiltonian of the system is given by :
Options:
ko om
—(p+a)
| % 2m

= o 2m

4 % 2m
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Suppose the spin degree of freedom of two particles (non zero rest mass and non zero
spin) is described completely by a Hilbert space of 21 dimension. Which of the
following could be the spin of one of the particles ?

Options:
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

One dimensional SHO described by the Hamiltonian H =%+%mmgxz is perturbed by
2m

an interaction ax*. The first order correction to the ground state energy is given by
(where SHO stands for simple harmonic oscillator).

Options:
.
ia

2 ]
| % Sm~w”

3h V2
s
L Ao

> R

3hia
2 am*w?

3a 1

4 % 4\ mo)
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The possible eigen values of helicity operator for massless spin % particle is :

Options:

| % only +1



- only —1

s % Tlhand 0
4@t
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Question Label : Multiple Choice Question

Number of bound state solution for a particle subjected to the potential V(x) =—V; 6(x — a),
V, > 0 where V,, and a are constants is :

Options:
% Infinite

5 % Depend on V,a

. » Dependon Voa

4.v 1
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Juestion Label - Multiple Choice Cuestion

Which of the following bilinears transforms as Lorentz vector, where y and y are
Dirac spinor and Dirac adjoint spinor respectively ?
Options:

L % WYY

o W W"r"““r’jw
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Juestion Label : Multiple Choice Question



The speed at which the kinetic energy of an electron is equal to twice of its rest energy is :
Options:

2«.":5 c
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Consider a quantum mechanical system of 1-d SHO. Three identical spin % particles

(non-interacting) are first placed in this system and ground state energy is found to be
15 eV. If 7 such non-interacting identical particles are placed in the same system, what
will be ground state energy ?

Options:
| & 15eV

, % 147eV

2 % 35eV

. % 21€V
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The root mean square fluctuation in E in the canonical ensemble is given by :

Options:
KTCv
1. % U



VKT2Cv
5 o U

EKTECF
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Consider two non-interacting 1-d SHO with same angular frequency (w). If the total
enerey of the system is (v + 1) i, the number of possible microstates is :

Options:

L # Ut |

> QU—]

z &V

vu—1)
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

A shop sells 10 computers on the average everyday. What is the probability of selling 10
computers on a particular day ?

Options:

p % ]

o % €

1DJOE—J{J

s 10!



IGIUE— L0

Question Number : 56 Question Id : 7622113256 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

The phase space trajectory of a single particle falling freely from a height will be :

Options:
M
P,
=
1. % <
M |
F: |
!
/
_,/ }:
2. % “
p_r"a
>
3. % e
A
P.
| >
4. v .
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Partition function for a single quantum SHO in one dimension, which is in contact with a
heat reservoir at temperature T and having frequency o is :

Options:



[ ho |
2sin hL
| KT
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Cuestion Label - Multiple Choice Cuestion

The sodium doublet lines arise due to °Py,, —°>S,,, and *B,, — S, transitions. The
ratio of intensities of spectral lines due to first transition to that of second transition is :
Options:

| % 123

2_&‘3:1
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uestion Label - Multiple Choice Cuestion

Raman shift ;

Options:
| % Depends on both frequency of exciting radiation and scatterer

- w Is independent of nature of scatterer

- Is dependent on the scatterer only



4% Is dependent on the frequency of the exciting radiation
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

In a He-Ne laser. the lasing action takes place due to transition in :

Options:
| % He atom

5 o Ne atom

5 ® He., Ne atoms both

4% Composites of He and Ne
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ouestion Label : Multiple Choice Question

A laser beam of wavelength 600 nm with a Gaussian profile having radius 10 mm is
focused by a lens of focal length 10 cm. The radius of focused spot is :

Options:

| % 0.3 pm

o 3.0 pm

5 x 0.0um

4 % 30 um
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Cuestion Label - Multiple Choice Cuestion

A sample absorbs at 350 nm and emits at 370 nm. The value of stoke's shift is :

Options:
; % 10nm

5 « 20 nm



5 % 40 nm

4 % Given data are insufficient
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

The minimum number of electrons to give rise to the spectroscopic term “Ds,, is:

Options:

1.$32

o o7
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Cuestion Label - Multiple Choice Question

Which of the DNA types is the normal DNA found in physiological conditions ?

Options:

1 % A type

o  Blype
T W ZWI}E

. = Clype
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Juestion Label - Multiple CThoice Cuestion

Enzymes have the role of catalysts. What kind of molecules makes an enzyme ?

Options:

| % Guanine



-~ » Nucleic acid

3 Protein

4% Amino acid
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The most common bond that provides support to the structure of large bio-molecules is :

Options:

| Hydrogen bond

o % Covalent bond

- % lonic bond

4, w Tetrahedral bond
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Cuestion Label - Multiple Choice Cuestion

The type of molecule involved in the formation of protein is :

Options:

| % Cytosine

5 mENA

- w Falty acids

4% Lipids
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question



A dc voltage supply provides 60 volts when output is unloaded. When full load current is
drawn from the supply. the output voltage drops to 50 volts. The value of voltage
regulation is :

Options:

| x 10%

o @ 20%
2 % 40%

. % 54.5%
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Correct Marks: 3 Wrong Marks: 1
Cesticon Label ;- Multiple Choice Question

The energy band diagram shown in figure is for a:

| ME

Options:
, % Direct band semiconductor

- w Indirect band semiconductor

= « Semimetal

, % Insulator
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

For a p-n junction in which breakdown occurs by a Zener mechanism, the breakdown
voltage :

Options:



| % Increases linearly with temperature

o Decreases with temperature inversely

3 % I8 independent of temperature

4% Increases as square of temperature
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

In an amplitude modulated system, if the total power is 600 W and the power in carrier is

400 W, then the modulation index is :
Options:
1 % 0.50

, % 075

2 % 0.90

4 » 100
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

PROMs are used to store :

Options:

, % Bulk information

5 % Sequential information

3 Information to be accessed rarely

, % Relatively permanent information

Question Number : 73 Question Id : 7622113273 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question



Simple capacitor filters are good for :

Options:
| & Low current supply

o % High current supply

= % Low voltage supply

4 % High voltage supply
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Cuestion Label : Multiple Choice Question

The value of gyrofrequency for inospheric radiowave propagation in the presence of
¥ " bl _"' v
earth's magnetic field (= 0.5 x 10 " Tesla) is nearly :

Options:
v 1.4AMHz

, % 2MHz
. % 3 MHz

. % 8 MHz
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The value of IC?.J;, where F=.t}=f—.yﬂ+m§, and C is the curve

5 oy 2t > . '
r=ti +1°j+°k. 1 varying from —1 to +1 is :

Options:
10

17



=1| tn
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Juestion Label - Multiple CThoice Cuestion
9

The residue of ——— atz=iais:
AR ot

where terms have their usual meaning.

Options:

Question Number : 77 Question Id : 7622113277 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

J, (x) can be written as :

-

Options:

I 2

[— Sin x
1 v Vm

|I 2
— COsS X
o ® 1"i| Y

2.
—,f—Sinx

[2
—.|—cosx
4% Imx
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

If A is a non singular matrix of order 5 x 5, then the rank of A is :
Options:
1w 1

2.533

W
#

4. ¢ 2
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Juestion Label - Multiple Choice GQuestion

The order of poles for the complex function f(z)= ; is given by :
zsinmz

Options:

1 %R Simple polesatz=0, 1,2, .........

5 % Simple polesatz=41,12, ........ :

5 % Simple polesatz=0,1,2, .........

4  Poleof order 2 at z =0 and simple poles atz= %1, 32, .........
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Question Label : Multiple Choice Question

The glancing angle for (111) plane of a rock salt crystal (a = 2.88 ﬂjdcnrrespnnding to
second order diffraction maximum for the X-ray of wavelength 0.3081 A is:

Options:

| = 20°

> 30



Ly 45°

4 % 60°
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Cuestion Label - Multiple Choice Cuestion

The effective mass of an electron in a band is :

Options:
| % Always negative

o % Always positive

; Siliv x iv
2 @ Can be positive or negative

4% None of the three
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

As temperature T — 0, the electronic specific heat of a solid is proportional to :
Options:
1. % T

Question Number : 83 Question Id : 7622113283 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Juestion Label - Multiple CThoice Cuestion

At long wavelength region of acoustic branch of phonons, relation between angular
frequency w and wave vector k is :

Options:



112
1 % OOk

5 Jm:}zﬁc

- % OOk

3
4 % ook
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Cuesticon Label : Multiple Choice Question

Bloch function is applicable for :

Options:
| Crystalline materials only

- Amorphous materials only

5 % Quasi crystals only

4 % Allof the three
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Cuestion Label @ Multiple Choice Question

A conductor is placed in a variable electric field E = E; cos ot If electrical conductivity
is 10° ohm™ m™', the ratio of the magnitudes of displacement and conduction current

densities at frequency 2 x 10” Hz is nearly :
(given €= 8.85 % 102 Fm™)

Options:

| % 107

2 w107

2 % ]DI[]

4 #® 10"
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

When the phase velocity of an e.m. wave depends on frequency in any medium, the
phenomenon is called :

Options:
| % Scattering

5 % Polarization

3 Dispersion

4 % Propagation
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Cuestion Label @ Multiple Choice Question

The electric field of an equipotential surface is :

Options:
| % Always parallel to the surface

5 % ZETD

2 Always perpendicular to the surface

4, w» None of the three
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Juestion Label - Multiple CThoice Cuestion

Electromagnetic wave is obliquely incident at an angle 6, at the surface of a dielectric
medium 2 (permeability |, permitivity =,) from a dielectric medium 1 (permeability L1,
permitivity < ,). The total reflection occurs, when :

where 8, is critical angle.
Options:

| % e,>,and 6,< 6,



o e,><,and 6,> 6,

3 % e,>,and B, < 8,
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Zuestion Label : Multiple Choice Question

A conducting rod of length [ is rotating with a constant angular velocity ® in a uniform
magnetic field B. The emf developed across the length of the rod is :

Options:
1 ® wBL

i mBL
o #®

5 % OBL

i {:}BLE
4.9 2
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Cuestion Label - Multiple Choice Question

The number of conduction electrons per unit volume in three-dimension varies with the
Fermi energy Er as :

Options:
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

If the mass of a proton is converted completely into energy, the energy equivalent will be :

Options:
| x 31 MeV

o o 931 MeV

-~ 9010 MeV

, » 1078 MeV

Question Number : 92 Question Id : 7622113292 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In a radioactive transition from a nucleus. the width of the level from which transition
OCCUTS :
Options:

| % Is directly proportional to the life-time of the level

o Is inversely proportional to the life-time of the level

2 % Is independent of the life-time of the level

4% Is inversely proportional to the energy uncertainty of the level

Question Number : 93 Question Id : 7622113293 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The decay constant () of a radioactive sample :

Options:
e independent of the age of the atom

5 % Depends on the nature of the activity



5 ® Increases as the age of the atoms increases

, % Decreases as the age of atoms increases

Question Number : 94 Question Id : 7622113294 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

If A be the atomic mass of an undeformed spherical nuclear droplet, the surface energy is
proportional to :

Options:

A/

Question Number : 95 Question Id : 7622113295 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

A substance reduces to %th of its original mass in 2 hours. The half life period of the

substance is :

Options:
| % 15 min

o o 30 min

_ 60 min

4 % 120 min

Question Number : 96 Question Id : 7622113296 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



ouestion Label : Multiple Choice Question

What would be radius of the sun to behave it as a black hole ?

Options:

| % 20 km

5 % 25 km
3.\_“/",\i‘,llun

L% 100 km

Question Number : 97 Question Id : 7622113297 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Stratospheric temperature increases due to presence of :

Options:

|« €O

> % water vapour

3 (O3 (ozone)

4 % O2(Oxygen)

Question Number : 98 Question Id : 7622113298 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Global Positioning System (GPS) operates in frequency band :

Options:
| % K-band

- % C-band
5 JL—band

4 w S-band



Question Number : 99 Question Id : 7622113299 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Sunspot has temperature :
Options:
| o Less than photosphere

o % More than photosphere
5 w Equalto photosphere

4, w More than Corona

Question Number : 100 Question Id : 7622113300 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which layer of the ionosphere can reflect radio waves of frequency 20 MHz ?

Options:
| % D-layer

. % E-layer
Ec-layer

5 ®

4 F,-layer



